
length = 0.497 m
drop height = 0.25 m

DS 13 Trial 1

γ = 0.874



length = 0.497 m
drop height = 0.25 m

DS 13 Trial 2

γ = 0.885



length = 0.497 m
drop height = 0.25 m

DS 13 Trial 3

γ = 0.886



length = 0.497 m
drop height = 0.25 m

DS 13 Trial 4

γ = 0.899



length = 0.497 m
drop height = 0.25 m

DS 13 Trial 5

γ = 0.860



length = 0.497 m
drop height = 0.25 m

DS 13 Trial 6

γ = 0.883



length = 0.497 m
drop height = 0.25 m

DS 13 Trial 7

γ = 0.874



length = 0.497 m
drop height = 0.40 m

DS 14 Trial 1

γ = 0.871



length = 0.497 m
drop height = 0.40 m

DS 14 Trial 2

γ = 0.877



length = 0.497 m
drop height = 0.40 m

DS 14 Trial 3

γ = 0.884



length = 0.497 m
drop height = 0.40 m

DS 14 Trial 4

γ = 0.881



length = 0.497 m
drop height = 0.40 m

DS 14 Trial 5

γ = 0.871



length = 0.497 m
drop height = 0.40 m

DS 14 Trial 6

γ = 0.870



length = 0.497 m
drop height = 0.40 m

DS 14 Trial 7

γ = 0.871



length = 0.497 m
drop height = 0.15 m

DS 15 Trial 1

γ = 0.882



length = 0.497 m
drop height = 0.15 m

DS 15 Trial 2

γ = 0.886



length = 0.497 m
drop height = 0.15 m

DS 15 Trial 3

γ = 0.894



length = 0.497 m
drop height = 0.15 m

DS 15 Trial 4

γ = 0.861



length = 0.497 m
drop height = 0.03 m

DS 16 Trial 1

γ = 0.882



length = 0.497 m
drop height = 0.03 m

DS 16 Trial 2

γ = 0.882



length = 0.497 m
drop height = 0.03 m

DS 16 Trial 3

γ = 0.873



length = 0.497 m
drop height = 0.03 m

DS 16 Trial 4

γ = 0.897



length = 0.497 m
drop height = 0.03 m

DS 16 Trial 5

γ = 0.884



length = 0.497 m
drop height = 0.0 m
DS 17 Trial 1

γ = 0.884



length = 0.497 m
drop height = 0.0 m
DS 17 Trial 2

γ = 0.874



length = 0.497 m
drop height = 0.0 m
DS 17 Trial 3

γ = 0.880



length = 0.497 m
drop height = 0.0 m
DS 17 Trial 4

γ = 0.877



length = 0.269 m
drop height = 0.0 m
DS 18 Trial 1

γ = 0.881



length = 0.269 m
drop height = 0.0 m
DS 18 Trial 2

γ = 0.875



length = 0.269 m
drop height = 0.0 m
DS 18 Trial 3

γ = 0.864



length = 0.269 m
drop height = 0.0 m
DS 18 Trial 4

γ = 0.882



length = 0.269 m
drop height = 0.0 m
DS 18 Trial 5

γ = 0.849



length = 0.376 m
drop height = 0.0 m
DS 38 Trial 1

γ = 0.895



length = 0.376 m
drop height = 0.0 m
DS 38 Trial 2

γ = 0.865



length = 0.376 m
drop height = 0.0 m
DS 38 Trial 3

γ = 0.885



length = 0.376 m
drop height = 0.0 m
DS 38 Trial 4

γ = 0.866



length = 0.376 m
drop height = 0.0 m
DS 38 Trial 5

γ = 0.887



length = 0.376 m
drop height = 0.0 m
DS 38 Trial 6

γ = 0.893



length = 0.376 m
drop height = 0.0 m
DS 38 Trial 7

γ = 0.889



length = 0.376 m
drop height = 0.0 m
DS 38 Trial 8

γ = 0.867


